Algebra 1 GMAS Practice
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1. Which function represents this sequence? G\_ Y‘L‘_' a \‘ \r -7 g U}D LAY C
2 3 4 5
18 } 54 | 162 | 486 )
Solutions:;
A. fln) =33 = yr=9
B. fin)=6""! A, G LD

c. flni=3ls"") O = (a(_B)n-\ 2.{ D

2. The points (0, 1), (1, 5), {2, 25), and (3, 125) are on the graph of a function.
Which equation represents that function?

A =2 XlOoltjz |3 - tovuvic —> exponantial
B. r(i)=3‘ ﬂl ihelzehee . - % SuLeAton

C. fix) =4
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‘Which of these is NOT a function?

\A (5. 3), (6. 4),{7. 3). (8, 4) 2\3 C. v= 3x* \/
. Y
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e 3. Which sum is rational? |
8728 A =+18 = Ny \D c '
What is a rewritten form of the radical? J2—5+1’75 2 DILAEE A
i o c. J3+55 =13+1§.¢
@ ~% -T2y VG 0. x+v3 =N132
B90.75 e\l Ve
c. -986\6 _b.b)_(; 4. Which product is irational?
D, =2,904 A V250 = Tloo = 1O
B. JBdevd = R-2L=1lo |
2. Look at the oxpression, C. V9eVag =3:7 = 21
Ji0 « B -, Solutions: |
2J8 « 20 1. A -
2. C |
Which of these Is equivalent to thls expression? 3. B
A 2/28 2 eo —
8.
125w o
0. 32J10 1.\.-‘-\]-\—0
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1. Arectangle has alength of 12 meters and a width of 400 centimeters, What is
the perimeter, in  cm, of the rectangle?

A, 82acm \2vm. —2 \1.\9\9, -7 \,ZODQYVL

C. 2,000c _ |
0. 3.200cm 1200 vHOO0 = . \
CDI’I’ECtAﬂSW&!@ 1’ L_L 3 ;200 CWV

2. Jlii swam 200 meters In 2 minutes 42 seconds. If each [ap is SO meters long, 7. i, Gosed
which is MOST LIKELY to be her time, in seconds, per lap? \ m/h

A. 32 seconds

B. 40 secands _

€. 48 seconds -
D. 60 seconds '

CarrectAnswer:IE' Lo L S?.(‘_\ 60%_: D\00 __ ""O
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3. For what values of x is the inequality %1-%:» 1 true?

A x<1 Z’—‘\'l}\ > 1\'X>‘8
3 3 212
c. i 5 L __'____,_.———;"__“
o x> '@%x sz ) &Y
Correct Answer@
4. Look at the steps used when solving 3{x - 2] = 2 for x,
Px-2=3 Write the original equation.
x-6=3 Use the Bistributive Property,
K-6+6=3+6 Step 1
3x=9 Slop 2
E’i.-. 3 Stepd
3 3
x=3 Step 4

Which step Is the rasuit of combining like terms?
A. Stepl

C. Step 3
0. Swepd
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1. In which expression is the coefficient of term “n" = 17
A, 3n2+4n-1

B. -n*+5n+4
6. =2n*-n+5 )-""7 "'\Y\.«

D. 4f+n-5

Correct Answar

2. The expression s? is used to calcutate the area of a square, where s is the side
length of the square. What does the expression {8x)? represent?

A. the area of a square with a side fength of 8

B. the area of a square with a side length of 16 2
C. -the area of a square with a side length of 4v S L%X)

the area of a square with a side iength of 8x

. L= ox
Carrect Answer:lﬂ
w\,\k\'h?\\j
T
1. What is the productof 7x -4 and 8x + 57 2. Amodel of a house is shown
/{N\ * o
o c e (AX-H)(@xtd)
B. 30x+2 g = Gx-Y i~ 4
(C_s6r+3x-30) DbX¥ 3Sx -3 2% 20 . - (
D. 56x2-3x+ 20 7.'- '
Sex“y3x 10
Correct Answar:@ VLxy3 Flav+ 3
3. Which exprassio sama value as Lhe expression Mr+ 13

{8x% + 2x - 6) ~|{5x2 - 3x + 2)7
8 x1' A2 X~ (_D.- - :5_?_'5_ li’ ?_2‘__ "__7: What is the perimeter, in units, of the made!?

C. 137 -x-8 = A 32+ 12units (L ZX43) M0 20 Hrbix v
0. 1347 -6x-4 AXT+EX -0 8. _46x + 25 units e x-H) 1(ex-4H)
Corroct Answcr: D. 64x + 24 units

3)

Correct Answer: 50X 41\

1}3

2Uxt (@ Y \HX+H + 12x-T



1. This equation can ba used to find A, the number of hours it will take Fle and
Bryan to mow their lawn.

> noh 2h =6

s ek - B — + —_— ] e L

Z 36 P = 3
How many hours wifl It take them 10 mow thelr lawn? 3 (h= 2)

b Tl e
A. 6 hours
B. 3 hours
2. Afomy boat canies passangers back and forth batwoon two communities on the
C:) i :9“'5 Panchvilio River,
5 our

* Ittakes 30 minutes longer for the ferry to make the trip upstream then

Carrect Answu‘ O downstream.

¢+ The ferry's avarage speed in still wator Is 15 milles per haur.
* The rivor's current is usually 5 miles par hour.

This equatian can be used to detorming how many miles spart the two
communities are.

m n

D

15-5 15+5°05

What Is m, the distance between the two communitles?

A. 0.5 md . y .
8. Sm:::: rP\\.Is N eCcin NeMMize—
) 15 s Qnd see which cne

Comect Answe MC‘&\%S e e_q\.! ﬂ-‘\"'\ﬂ’]
) ‘e,

- Two lines are gmphed on this coordinatn plane.

2, Based on tho tablas, at what point do tha lines y s -z + 5 andyz=2r-1
, inlersecl?

:—l,\:"r_,!-gmw‘!r J-:A’-.j.—-.: ;l:\&l_ll',.“""\-‘_-_“'ﬁ"'\
teriy 2 ox 3 537 MRy Y 2 L T

as it ~
2 ¥ X ¥
-1 13 -1 -3
a} 5 0 -1
s a4 1 4 1 1
2 3 0d 2 | 3o
I 3 2 i 3
I
! A 11,1
(3.5)
2,3
0. 13.2)
Which paint appears to be a solution of the equetions of balh lines
A (0,-2) CcnnclAnswerE
| 8. {0, 4)
C. {2,0)

@la. 1)

';orrect Answet[m
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] 3. Look al the tables of valuas for two lingar lunctions, f{x} ang g(a). 4. Which oidetod poir is o salution of 3y + 2= 22 - 57
1 e SN+ =2E)-
8. (0, -5} 3+ =5
© 5.1
D. (7.5 5= £~

Explanatian af corroct answer: Tha corect answer s chaice (C) (5, 1), Also, il the
valuns of x and y are substiuted Inlo the equation, the statement becomes 5 = 5,
which is a true statement. This shows that the ordered patr 18 8 solution of the
equalion t

5. A manager is comparing tho cost of buying basaball caps from two dliferant |
What ls the solution to f{x} = g{x)? companias,
=« Company X charges a 550 fee plus $7 per basaeball cap.

Solulion; = Compony Y chatges a $30 len plus $9 per baseball cap. [

( 53 i - 2') >§ ) 3 \'i _ ,.;2 For what number of basaball caps will the cost be tha same at bolh campanies? i
| ‘ @ 1 X- DO F Tx =F0+1(0) = | e

| 8, 20
c. a0

0. 100 V. 307 qX: 30 + Aue) = 1

Contact Ansm:r
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A
6. A shop sells ona-pound bags of peanuts for $2 and three-pound bags of peanuts

L i for $5. It 9 bags are purchased for a total cost of $36, how many three-pound
i bogs were purchased? 7. Which graph repressnis a system of lineor equations that has multiple comman
coordinate palrs?
i A, 3
{B. ) € . ¥
c. ¢ "

D. 18

! cumclAnswarD A.'..-‘.d.;.;‘:“l' @ ‘hd.:i:‘“"
| QK Ay = Q) ; ~— ]

|. '\"5\_ =3 ' &
| */Zg r2g =15 : ,.
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1. Which functlon represents the sequence?

2] a| a| s |
_ |10 |17 | 24 | 31
A. finy=n+3 .
LU RS P\bB AN CLlL"CiL Ench weak, Tim wants to Incroase the number af sit-ups ho does dally by
@D :;:::: : :'L+?7 (ol r\ 2 sit-ups. The first week, ke does 15 sit-ups each day.

Correct Answer C

1. Look at the sequence In this table.

write an explicit function fn the torm fln) = mn + b 10 represent the number of
si-ups. fin), Tim does day in week. n

Salutlan:

Yn=2 (slope,rote of Charvge)
b =1\5 (S-i'cx.rhﬂj oot

F(ny= 2n HT:’D

Cinthymen

d=2

Which function represents the sequence?

A 8 =a_ ,+1
®ﬂn=an-l+2
C. a3 =2a 1
D. a,=2a,_,-3

n-1"
1

Corroct Answer:

2. Conslder this pattemn.

&, BH o Gdd 2

decle  ofedkele  fpefespel

dedkcle  dpdededy dpodfedhebae
Ckﬂ-\'hmq_,h o d=3

Which function represen@ the sequence thal represents the pattem?

A a=a_ -3

QB:)a=a +3
n n=1

C. a,=3a,_ ,-3

1
D. 2,=33,_,+3

Correct Answer:@
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3. Which function is modaled In this tablg?

A fix)=x+7
B. xj=x+9
C. fa)=2x+5

fin)=sIx+5
Correct Artswer

)
i
2 11
3 14
4 17

)

4. Which eaplicit formula describos the patiem in this table?

2| 625!
3| 94z
5 | 15.70
10 | 31.40
A d=314xC
B. 31dxCxg

C. 31d4n10=¢C

@ C=314xd
Correct Answnr:

5. WH12) = 4{12) - 20, which function glves Mx)?

A, fix)=alx
B, fix)=12a
fix) = da - 20
L Ax)=12x-20

Corract Answer:@

1. A wild horse runs at a rate of 8 miles an hour for® hours: Let y be the distance,
in miles, the horse travels for a given amount of time, x, In hours. This situation

can be modeled by a function.

Which of these describes the domain of the function?

@ 0<x<6
A 0<y<6
C. 0<x<48
B O0<y<a8

Correct Answer:

A

> Ser of c\ wrput (x) v allve o
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1. To ronl o canoe, the cost lsp:!

"

.

2. Juen and Patll declded to see who could read more books In a moath, Thay

[

5
tor tha oars and hife preserver, plus 55 pon howr
for the ganoc. Which graph modols the cost of renting o canou?

began 1o keep track after Patt} hod alroady 1aad 5 books that manth, This graph

shows the number of books Pattl read for the next 10 deys and the ralo st

which she will read for the rest of ths month,

5

p]

Number of Bauks

- - X
I 23Y4 567 K 9w

hay

If Juzn does not road any bookis before day 4 and hy starts rendlng at the same

rate as Patil for the rest of the month, how many bouks will ho have read by

day 127

. 3
G 10
C. 15
0. 20

Mreemald nng.-m! l

@9
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1. Which expression is equivalent lqu:” . E4y’?
A. {11x-16p)(11s + 18)) 7 . y
8. [11x~16y){1lx- 16}) (\\X’ %E})Q\\ Ay 85)
C. {11x + By{1iix + By)
(11;: + 8y){11x - By)

Correct Answer:@
2. What Is a common factor for the expression 24x® + 16x + 1447
A 16 P I S
o & 8(3x%+r2n+ \‘8)
(© ac+2x+18

0. 8(x-2)(3x +9)

Correct AnswenD

3. Which of these shows the complete factorizatlon of 6x3y* — 9xy - 422

A. 3(2x7 - THxy* + 2) 3(1)«9‘33‘ - 3><\‘j . V’*)

;g_’._ (3xy 2xy = 7)
N 3(2xy - Thay + 2)
B (37 + B2 - T)

Carrect Answar:l I

Example of a Box-n-Whisker Plot

IQR = Q3 - Q;
“whisker” 25% "whisker"
lower 25% qu middle 50% of data upper 25% spread

fi

/:so 70 75 85 100
Lower Extreme Upper Extreme
-
60% 70% 80% 90% 1002 i

Final Exam Grades for Physics




